—

Subtracting Ones from a 3-Digit Number

—

LO: to subtract ones from a 3-digit number

Calculate the answer to the following:

Calculate the answer to the following:

17) 122-6 =
18) 279 - _ = 271
19) ___-7=329
20) 459 - 3 =
21) 566 - _ = 557
22) 659 - 4 =
23) 779 - 5 =

24) ___ -8 =944

1) 166 -3 = 9) 145-8 =
2) 295-4 = 10) 213 - 7 =
3) 307-5-= 11) 383-5 =
4) 489 -7 = 12) 491- 4 =
5) 578 - 4 = 13) 571-5 =
6) 636-2 = 14) 678 - 9 =
7) 794 -3 = 15) 722 - 6 =
8) 959 - 8 = 16) 982 - 4 =
Calculate the answer to the following: Challenge

Explain how you would use
14 - 8 = 6 to calculate 384 - 8.
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e Subtracting Ones from a 3-Digit Number e

LO: to subtract ones from a 3-digit number

1) 166 - 3 = 163
2) 295 - 4 = 291
3) 307- 5 = 302
4) 489 -7 = 482
5) 578 - 4 = 574
6) 636 -2 =634
7) 794 - 3 = 791

8) 959 - 8 = 951

Calculate the answer to the following:

Calculate the answer to the following:

9) 145 -8 =137
10) 213 - 7 = 206
11) 383 -5 =378
12) 491 - 4 = 487
13) 571-5 = 566
14) 678 - 9 = 669
15) 722 - 6 = 716

16) 982 - 4 = 978

17) 122 - 6 = 116

18) 279 - 8 = 271
19) 336 - 7 = 329
20) 459 - 3 = 456
21) 566 - 9 = 557
22) 659 - 4 = 655
23) 779 - 5 = 774

24) 952 - 8 = 944

Calculate the answer to the following:

Challenge

Explain how you would use
14 - 8 = 6 to calculate 384 - 8.

14-8=6
S0
84 -8 =176
SO
384 -8 =376
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